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The figures in the margin indicate full marks for
the questions.
1. Choose the correct answer : 1x10=10

(a) Qcientific approach to the analysis of
cconomic events, commonly referred as :

(i) Positive cconomics
(i) Normative cconomics
(iii) Micro cconomics

(iv) None of the above.
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(¢) - Explain the concept of excess capacity
firm,

(/)  Writc a note on Dumping.

(b) What is clasticity of demand ? Discuss the
different types of clasticity of demand.

- p 2-+~6: 1%

(c)  What is lcast €ost combination of inputs ?
Explain how least cost combination of input

is attained. ‘ 4-+4--8

(d) What is oligopoly ? Determine price and
oufput under oligopoly with the help of i
-kinked Demand Curve model. 2-+6=8 8

Or

Discuss the role of Demand and Supply on
price and output determination process under
perfect compctition. _ 8
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